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1. Who is called as Father of Indian Statistics? 

(A) P.C. Mohalanobis  (B) Sir. C.V. Raman  

(C) R.A. Fisher   (D) S. Chandrasekhar 

‘C¢v¯ ¦ÒÎ°¯¼ß u¢øu’ GÚ AøÇUP¨£k£Áº 

(A) ¤.]. ö©õP÷»õÚ£ì  (B) \º.].Â Cμõ©ß  

(C) R.A. ¤åº   (D) Gì. \¢vμ÷\Pº 

2. F– distribution was invented by 

(A) R.A. Fisher   (B) G.W. Snedecor  

(C) Karl Pearson   (D) Helmert 

F–£μÁÀ ¯õμõÀ Psk¤iUP¨£mhx? 

(A) R.A. ¤åº   (B) G.W. ]÷ÚöhUPº  

(C) PõºÀ ¤¯º\ß   (D) öíÀö©ºm 

3. If the events A and B are independent, then )( BAP   is 

(A) )()( BPAP     (B) )()( BPAP    

(C) )()( BPAP     (D) )(/)( BPAP   

A ©ØÖ® B \õº£ØÓ {PÌa]PÒ GÛÀ )( BAP   Gß£x 

(A) )()( BPAP     (B) )()( BPAP    

(C) )()( BPAP     (D) )(/)( BPAP   

4. Type I error is 

(A) Reject 0H  when 0H  is true (B) Reject 1H  when 1H  is true  

(C) Accept 0H  when 0H  is false (D) Accept 1H  when 1H  is false 

•uÀÁøP¨ ¤øÇ Gß£x 

(A) 0H  Esø©¯õP C¸US® ö£õÊx 0H  {μõP›zuÀ 

(B) 1H  Esø©¯õP C¸US® ö£õÊx 1H  {μõP›zuÀ  

(C) 0H  uÁÓPõP C¸US® ö£õÊx 0H  HØÓÀ 

(D) 1H  uÁÓPõP C¸US® ö£õÊx 1H  HØÓÀ 

5. Least square method is a device to obtain the estimate of a 

(A) BLUE   (B) UMVUE  

(C) CANE   (D) MLE 

SøÓ¢u ÁºUP •øÓ Cuß ©v¨¥kPøÍ PshÔ¯ EuÄ® \õuÚ® 

(A) BLUE   (B) UMVUE  

(C) CANE   (D) MLE 
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6. The test used for testing the independence of attributes is 

(A) t-test   (B) F-test  

(C) 2 -test   (D) Z-test  

\õº£ØÓ £s¦PÎß ÷\õuøÚ ¤ßÁ¸® G¢u ÷\õuøÚ°ß ‰»® PshÔ¯»õ®? 

(A) t&÷\õuøÚ   (B) F&÷\õuøÚ  

(C) 2 &÷\õuøÚ   (D) Z&÷\õuøÚ   

7. The range of chi square distribution is 

(A) 0 to     (B) 0 to 1  

(C) –  to     (D) –1 to 1  

øPÁºUP £μÁ¼ß Ãa_ 

(A) 0 to     (B) 0 to 1  

(C) –  to     (D) –1 to 1  

8. The chi square distribution is 

(A) Positively skewed  (B) Negatively skewed  

(C) Symmetrical   (D) None of these  

øPÁºUP £μÁÀ 

(A) ÷|º©øÓ ÷Põmh®  (B) Gvº©øÓ ÷Põmh®  

(C) \©a^μõÚ   (D) ÷©ØPshÁØÖÒ GxÄªÀø»  

9. If 0r , the lines of regression are 

(A) Coincide   (B) Perpendicular to each other  

(C) Parallel to each other  (D) None of these  

0r , GÛÀ, Ehß öuõhº¦ ÷£õUSU ÷PõkPÍõÚx 

(A) JßÓõP Cøn²®  (B) JßÖUöPõßÖ ö\[SzuõP C¸US® 

(C) JßÖUöPõßÖ Cøn¯õP C¸US® (D) CÁØÖÒ GxÄªÀø»  

10. The range of 60, 70, 50, 45, 38, 58, 63 is 

(A) 22   (B) 32  

(C) 42   (D) 52  

60, 70, 50, 45, 38, 58, 63 Gß£vß Ãa_ 

(A) 22   (B) 32  

(C) 42   (D) 52  
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11. If 5.0)( AP , 3.0)( BP  and the events A and B are independent then )( BAP   is 

(A) 0.8   (B) 0.15  

(C) 0.08   (D) 0.015  

5.0)( AP , 3.0)( BP , ÷©¾® A ©ØÖ® B  \õº£ØÓ {PÌa]PÒ GÛÀ )( BAP  Gß£x 

(A) 0.8   (B) 0.15  

(C) 0.08   (D) 0.015  

12. The data relating to honesty, literacy and sickness are examples of 

(A) Variables   (B) Attributes  

(C) Numerical   (D) Parameters  

÷|ºø©, GÊzuÔÄ, ÷|õ´ BQ¯ ÂÁμ[PÎß uPÁÀ RÌPshÁØÔØS GkzxUPõmk BS® 

(A) ©õÔ¼PÒ   (B) £s¦PÒ  

(C) Gs ÁøPPÒ   (D) AÍÃkPÒ  

13. Critical region is 

(A) Rejection area   (B) Acceptance area  

(C) Probability   (D) Test Statistical value  

wºÄ Pmh £Sv Gß£x 

(A) ©ÖUS® £Sv   (B) HØS® £Sv  

(C) {PÌuPÄ   (D) ÷\õuøÚ ¦ÒÎC¯À ©v¨¦  

14. The Probability of Type II error is denoted by 

(A)     (B)    

(C) 1    (D) 1   

Cμshõ® ÁøP ¤øÇ°ß {PÌuPÄ GuÚõÀ SÔ¨¤h¨£kQÓx? 

(A)     (B)    

(C) 1    (D) 1   

15. The probability of drawing one spade card from a pack of 52 cards is 

(A) 
52
1

   (B) 
13
1

  

(C) 
13
4

   (D) 
4
1

  

52 ^mkPÒ öPõsh J¸ Pmi¼¸¢x ì÷£k ^mk Gk¨£uØPõÚ {PÌuPÄ 

(A) 
52
1

   (B) 
13
1

  

(C) 
13
4

   (D) 
4
1
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16. In cluster sampling the units are 

(A) Overlapping   (B) Non-overlapping  

(C) Homogenous   (D) Non-homogenous 

vÓß TÖ•øÓ°À AøÚzx A»SPÐ® 

(A) v¸®£ Á¸£øÁ   (B) v¸®£ ÁμõuøÁ  

(C) J¸ £i¯õÚøÁ   (D) J¸ £i¯õÚøÁ AÀ»   

17. In a Poisson distribution, the mean value is 5, then the value of variance is 

(A) 25   (B) 5   

(C) 125   (D)  5 

5&I \μõ\›¯õP öPõsh J¸ £õ´\õß £μÁ¼ß £μÁØ£i°ß ©v¨¦ 

(A) 25   (B) 5   

(C) 125   (D)  5 

18. The statistical test used to test the correlation coefficient is 

(A) Normal   (B) t-test  
(C) 2 -test   (D) F-test   

JmkÓÄ öPÊøÁ ÷\õuøÚ ö\´¯¨ £¯ß£kzu¨£k® ¦ÒÎ°À ÷\õuøÚ 

(A) C¯À{ø»   (B) t&÷\õuøÚ  

(C) 2 &÷\õuøÚ   (D) F&÷\õuøÚ 

19. Double sampling is also known as 

(A) A two stage sampling  (B) Two phase sampling  

(C) Two directional sampling (D) All of these 

Cμmøh TÖ •øÓ GÚ¨£kÁx 

(A) C¸ Pmh TÖ •øÓ  (B) C¸ {ø» TÖ •øÓ  

(C) C¸ ©õºUP TÖ •øÓ  (D) CøÁ AøÚzx®  

20. Whether a test is one sided or two sided depends on 

(A) null hypothesis   (B) alternative hypothesis  

(C) simple hypothesis  (D) composite hypothesis  

J¸ ÷\õuøÚ J¸ £UP ÷\õuøÚ¯õ AÀ»x C¸ £UP ÷\õuøÚ¯õ Gß£x CuøÚ \õº¢ux 

(A) CÀ GÝ® Gk÷PõÒ  (B) ©õØÖ Gk÷PõÒ  

(C) GÎ¯ Gk÷PõÒ   (D) Tmk Gk÷PõÒ 
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21. If the co-efficient of kurtosis is zero, the frequency curve is 

(A) Leptokurtic   (B) Platykurtic  

(C) Mesokurtic   (D) None of these  

umøh öPÊ §äâ¯® GÛÀ, {PÌöÁs ÁøÍ÷Põk 

(A) }Ò umøh¯õÚx   (B) SøÓ umøh¯õÚx  

(C) C¯À umøh¯õÚx  (D) CÁØÖÒ GxÄªÀø»   

22. If the smallest and largest observations in a data are respectively 73 and 139, how many 

mutually exclusive classes can be formed of width 3 each? 

(A) 20   (B) 21  

(C) 22   (D) 32  

J¸ uμÂÀ «a]Ö ©v¨¦, «¨ö£¸ ©v¨¦ •øÓ÷¯ 73 ©ØÖ® 139 GßÖ C¸¨¤ß CøhöÁÎ 

©v¨¦ 3 GßÖ øÁzx JßøÓö¯õßÖ Â»US® ÁS¨¦PÒ GzuøÚ Aø©UP»õ®? 

(A) 20   (B) 21  

(C) 22   (D) 32  

23. The classical definition of probability is based on the assumption of 

(A) Equally likely   (B) Independence  

(C) Both (A) and (B)   (D) Neither (A) and (B)  

öuõßø© {PÌuPÄ Áøμ¯øÓ°ß AÝ©õÚ® 

(A) \© Áõ´¨¦ {PÌa]PÒ  (B) \õº£ØÓ {PÌa]PÒ  

(C) (A) ©ØÖ® (B) Cμsk® (D) (A) ©ØÖ® (B) Cμsk® CÀø»  

24. Probability can take values between 

(A)   and     (B)   and 0  

(C) –1 and 1   (D) 0 and 1  

{PÌuPÄ ©v¨¤ß CøhöÁÎ¯õÚx 

(A)   ©ØÖ®     (B)   ©ØÖ® 0  

(C) –1 ©ØÖ® 1   (D) 0 ©ØÖ® 1  
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25. Which of the following techniques is used to predict the value of one variable on the basis of 
other variable? 

(A) Correlation analysis  (B) Co- efficient of Correlation  

(C) Covariance   (D) Regression analysis 

RÌPsh •øÚ°À J¸ ©õÔ°ß ©v¨ø£ øÁzx ©ØÓ ©õÔPÎß ©v¨¦PøÍ •ßPoUS® •øÓ 

BS® 

(A) JmkÓÄ £S¨£õ´Ä  (B) JmkÓÄ öPÊ  

(C) Cøn £μÁØ£i   (D) Ehßöuõhº¦ ÷£õUS £S¨£õ´Ä  

26. Range of the correlation coefficient is 

(A) 30  r    (B) 11  r   

(C) 0 r    (D)  r0   

JmkÓÄ öPÊÂß Áμ®¦ 

(A) 30  r    (B) 11  r   

(C) 0 r    (D)  r0   

27. The analysis of variance utilises 

(A) F-test   (B) 2 -test  

(C) t-test   (D) All the above  

£μÁØ£i £S¨£õ´ÂÀ Cx £¯ß£kQÓx 

(A) F&÷\õuøÚ   (B) 2 &÷\õuøÚ  

(C) t&÷\õuøÚ   (D) CøÁ AøÚzx®  

28. The standard error of the sampling distribution of standard deviation is 

(A) 
n


   (B) 
n2

2
  

(C) 
n2


   (D)  

)1(2

2

n


 

©õv› £μÁ¼À vmh Â»UPzvß vmh¤øÇ¯õÚx 

(A) 
n


   (B) 
n2

2
  

(C) 
n2


   (D)  

)1(2

2

n

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29. Bias of an estimator can be 

(A) Positive   (B) Negative  

(C) Always zero   (D) Either positive or negative  

\õº¦ ©v¨¥k CÆÁõÖ C¸UP»õ® 

(A) ÷|›øh   (B) Gv›øh  

(C) G¨ö£õÊx® §äâ¯®  (D) ÷|›øh AÀ»x Gv›øh  

30. Data represents 

(A) a single value   (B) two values  

(C) a large value   (D) a group of values  

¦ÒÎ ÂÁμ® Gß£x 

(A) J÷μ J¸ ©v¨¦   (B) Cμsk ©v¨¦PÒ  

(C) ö£›¯ ©v¨¦   (D) ©v¨¦PÒ Ah[Q¯ öuõS¨¦  

31. The number of possible samples can be drawn of size n each of N population units without 
replacement is 

(A) n
N C    (B) n

N P   

(C) 2n    (D)  !n  

N EÖ¨¦PøÍ öPõsh •Êø©z öuõSv°À C¸¢x n EÖ¨¦PÒ EÒÍÁõÖ v¸®£ øÁzu¼À»õ 

•øÓ°À ö£ÓzuUP ©õv›PÎß GsoUøP 

(A) n
N C    (B) n

N P   

(C) 2n    (D)  !n  

32. Non-response in survey reasons 

(A) Non-availability of respondent  

(B) Non-return of questionnaire by the respondents  

(C) Refusal to give information 

(D) All the above 

B´ÂÀ ©Öö©õÈ AÎUP uÁÖÁx GßÓõÀ 

(A) £vÀ AÎ¨£Áº CÀ»õø© 

(B) £vÀ AÎ¨£Áº ÂÚõ£mi¯ø» v¸®£ AÝ¨£õuuõÀ 

(C) £vÀ AÎUP ©Ö¨£x 

(D) CøÁ AøÚzx®  
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33. The variance of Binomial distribution 

(A) npq    (B) np   

(C) npq    (D) 0  

D¸Ö¨¦ £μÁ¼ß £μÁØ£i 

(A) npq    (B) np   

(C) npq    (D) 0  

34. Excel files have a default extension of 

(A) .xls   (B) .xlw  

(C) .doc   (D) .ppt  

GUéÀ ÷Põ¨¦PÎß C¯À¦{ø» }mi¨¦ 

(A) .xls   (B) .xlw  

(C) .doc   (D) .ppt  

35. When integrating Word and Excel, Word is usually the 

(A) Server   (B) Destination  

(C) Client   (D) Both (B) and (C)  

÷Áºm ©ØÖ® GUéÀ ÷Põ¨¦PøÍ J¸[QønUS® ÷£õx, ÷Áºm BÁn® ÁÇUP©õP 

(A) \ºÁº   (B) C»US  

(C) £¯ÚõÍº   (D) (B) ©ØÖ® (C)  

36. Each excel file is called a workbook because 

(A) it can contain text and data 

(B) it can be modified  

(C) it can contain many sheet including worksheets and chart sheets  

(D) you have to work hard to create it  

JÆöÁõ¸ GUéÀ ÷Põ¨¦® JºU¦U (workbook) GÚ AøÇUP¨£kQÓx HöÚÛÀ 

(A) Cx Eøμ ©ØÖ® uPÁø» EÒÍhUQ¯x 

(B) Cx ©õØÓzvØS E›¯x  

(C) Cx {øÓ¯ £μÁÀuõÒ ©ØÖ® ÂÍUP¨£h uõÒPøÍ EÒÍhUQ¯x 

(D) Cøu E¸ÁõUP PiÚ©õP EøÇUP ÷Ásk®  
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37. t – distribution is used for 

(A) test the difference between two means 

(B) test the difference between two variance  

(C) test the goodness of fit 

(D) test the independence of attributes 

t – £μÁÀ CuØS £¯ß£kzu¨£kQÓx 

(A) Cμsk \μõ\›PÎß Âzv¯õ\zøu ÷\õuøÚ ö\´¯ 

(B) Cμsk £μÁØ£iPÎß Âzv¯õ\zøu ÷\õuøÚ ö\´¯  

(C) ö£õ¸zxu¼ß ö\®ø© uÚzøu ÷\õuøÚ ö\´¯ 

(D) £s¦PÎß \õº£ØÓ ußø©ø¯ ÷\õuøÚ ö\´¯   

38. Standard deviation of sample distribution 

(A) Sampling error   (B) Non-sampling error  

(C) Type I error   (D) Standard error  

©õv› £μÁ¼ß vmh Â»UP® 

(A) ©õv› ¤øÇ   (B) ©õv› AÀ» ¤øÇ  

(C) •uÀ ÁøP ¤øÇ   (D) vmh ¤øÇ  

39. Out of the two types of errors in testing the more severe error is 

(A) Type I error   (B) Type II error  

(C) Both (A) and (B) are equally severe (D) No error is severe  

Gk÷PõÒ ÷\õuøÚ°À EÒÍ Cμsk ¤øÇPÎÀ Gx ªP Pkø©¯õÚ ¤øÇ 

(A) •uÀ ÁøP ¤øÇ    

(B) Cμshõ® ÁøP ¤øÇ  

(C) (A) ©ØÖ® (B) Cμsk® \©©õP Pkø©¯õÚøÁ 

(D) G¢u ¤øÇ²® Pkø©¯õÚuÀ» 

40. Harmonic mean gives less weightage to 

(A) small values   (B) positive values  

(C) negative values   (D) larger values  

Cø\ \μõ\›¯õÀ SøÓ¢u •UQ¯zxÁ® ö£ÖÁx  

(A) ]Ô¯ ©v¨¦PÒ   (B) ÷|º©øÓ ©v¨¦PÒ  

(C) Gvº©øÓ ©v¨¦PÒ  (D) ö£›¯ ©v¨¦PÒ  

––––––––––––––––––– 
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ROUGH WORK 

 


